mEXF—)—45 EH# l\/\—}'( EEE =B
=R =7

ExF—y—o i 7N/ \— X 533 (=15 2T T T LI =23 JIEfr |
i) ° _ |1, - , - 5 1 1 1 4 8 7 1 3
TR . 0o O, 0 3 0 0 2 15 13 4
£ =T (4) S (8) S r 2 1 0 6 13 4 9 2
18— , - 219 - 19 - 2 0 1 7 7 4 3 1
H— & FRAY—J
AT—7 A oJ7—L | PUETh—o— SEC = EUI5 513 =163 T T Bo L3 BX i
koA T7—L O 19 o 3 0 0 9 42 2 40 1
FoETR——| . X . o s 5 i 2 0 3 18 29 11 3
£4ehc A o = 15 0 3 0 0 3 47 44 4
ErhU15 I R 2 1 0 6 26 " 15 2
H— & FRBY—J
BU—% RN E VIS TArC =TA 13 =1bi g 1bi 7 =2 Ea B TG
KR4 O 19 - o, 3 0 0 9 25 3 22 1
£4tB DY s , = 0 3 0 0 6 27 21 4
EAFC o S 19 L ., 2 1 0 6 1" 9 2 2
EHhA , o g (7) o, o, T 1 0 0 3 11 14 -3 3
B—RIECRES @ FoUATD7—L XS KR#E  FI360: XWPUIS
SPTUL R |7 re=r-o— 4 \E 9 EaphA | ThidesEEk | semhe VS 4 | zmen
73 S it 6 Vs KRFL | 3OIPRERR  |sembuis Vs 1 | =rrc




